PS FT 4 Solvbion 9



1%

Bl b2

al /Z] cos 8

B

Reall &b

cvs @ =

[&l = m:r
N Jai =3

Ar&a\ of PGMHG"J'M‘ 5Pam¢:./\ l’j Z P

Cdm‘auéhj Cress P(co((/c ¢,
- - [N Z
- v J
ax b / o }
~( 2 2

PRI R R ARy

2

—

.3
=
-5 I .
L o(12-12) =3 (12 =1 (n) + R (1-2-)60)

= RN .
= Ol - 3d - 3k

The dogbr  |axb] s \/_o_‘;:;m° 2 @



Ch) Rem”/ bhe lee Cenbaincig & with nerml V&c/;crj Is

—

e - -
beX = b-a
Hes, &=(l1) b S(~h22) Xz (%4.2)
we cmpube IZ = (=l)el + 2()) t29 = 3
[;—'X—\ T =-Xt2y+22

Seo F/Ol\e (s (~I'2l 2) .; - 3 or '%7"2&*22:3 \

A /’J/&né/ we head @ ;00166“ en }o/ahe )?:
PN
The plane 5 thon )?):)A: X, h

d ) To specify

ahJ %a, net mal VécéorJ r"l‘,

We choosc -io=(0/0,0) as  bhe pont,
To find @ normal Vecétf ;)A/ Wé  vse lL/’}\é [ nferonalsion

that  the plane  conbars 7 gk b,

Becavse Ehe  normal Veckr s PC“fPC’wo/fcula/ ke all vedws

aleny Ehe plane,
] § . :
Ne (&=0)=0 Coehel I O 5
. - nek (A p/anf/
= —_ =
n’(B‘O)“O / n owald be per
Se n s pependicda bu a & b 22
- =C
Cross predvcl  gvés Sich a veckor
A -
ﬁ\ can b€ {mkcn bo be a6 xh= (0,—3,‘3)
Y

P/ﬂn& (cnéq,m"hj OJ 212’ 1§ (0 ~.3{‘3>’X: @,

%o,



LC—[? Z:(auam as) X/ b; (Lllln,ba)

Y S 2
2% a To show G-(axb)=0, we will cempitt

the &Lross product a‘xi | bhen bhe dob predut

with  a.

7k /
- = - a, aa &
g 88 / b b bs

) 2
I 2.

ak-ab )

SRR

L (@aby~0ab) =T (s~ b))tk (a

~a’b3fa3})/ / C’,[h\d_,lyl)

M

( 02 b3 \0351/

Now we Compv&f ;'(&)Xf)
a-(&xh) = a, (a by ~@sba) + (- a,l:sfa-s[,)
+ a;(d b ~ 0 b))
= W;;"W "MM*?}“@M
HOrarhy - aagh,

e
—
>



Le(:

To

24%b)

5}\0‘”

GXP}TCl-Hy Comp vbe

Frm be Fore

compibs JT

We

Same  manner

Lxa *

)]

We obscwe

E__\()-:xa)/ wg wilf
- QD
axb 2 Yra

—{: ( byay=~bs a,)~j( bas~bs a,)+-}:(5,a,~a,lu)

Crzshns

(5203-53 az/ “5,03'1‘630,) b’az'a,L;z)

Gxbs ~ (bxa).



19)

S(SGP _;9,-; D@Sérl})é &Uodrl’}aé&fa! wilth as Few Variables as possible

Let D be bhe aigim. The ?Uac’rﬂaégal s given

S
by Lhvee veckors @, b,c
-t
b
-
c
PR
a

s,

T, " m r
Skep 32 Lnberpret hoowns & geal 10 Cerms of Veckors )
x = . -
K howns 3 Midpait of O bo ) Egvels midpant ot C b @

Tl 5 T+0 atre

D

Graial & Want & show that  Line ng"ﬁ'it from @b b
2
[s  Sems g 2 ditglon oy e sgme’ o cC.

= &
Thab s , want & Shew b-a = -0

Step Yo Algebea L cemplele preet.

= = 3
We hm\.- éi_o > a,io
2 2
== - LN
T hos bz atc

s =
and b-Z=cC-0.



_l;g / a+r
35) 27 ;o
o o

Sbop 142+ Describe itk 28 Sew Variable, s possivle.

Mahe one cornse the argin. A paallelyren /s
5:‘\/6«\ ly bwo veckwnr o 2 E‘

AN

The diggorels a3 N T ) a@-b

¢ bhe parallclegrers (s & (ccbungle,



1)

2¢-22=| 5 & F/amc— / nds aling
No, —2y-22=

= 2D
bebween  Xty+2z| aw XJ-Z=2



54 o)
p]ane is  giver by
n-x=b

WC’ HééJ bo }70(] -Y-\\ ) l) Such /;)\ai
ﬁ\, 5? sb Ser all  spam X
A-% < b for  all  nesper X.

We Skebeh (2\5 ]OOMB n Lhe X Xy p/an(

X - spom
o - ne gpa™

X2

x &0
Obgerve  We  cam Separabe  with Joshet Jine  with slee 1 and

X3 "fﬂéé(fé{’f 1.5 W ’VW

Viewny bhis hic a> ¢ olane  Lhatt 15 X, - veriant
wWe Jden [:ff’y H\alf Ehe plané ccn(,-q)ﬁs (g )
I.§

s /0
ahd s normal Ve bor n=<~l1)

-

Ol/f PI&M iS 3?16‘1\ B,‘j (0/~)’ 1)~ X = (01_}))].(@0/ L§) = I’SP

The separmbiny  plare 1 (O)~1,1)+ X=.5

_ LA
o Verlfy, V¢ compvbe  h X for all  Spam fen P

Spam; /Vob spon:
(0."’]’)1(2‘012):2 >‘.S (OI‘III)' (2|0;l) = \ P4 [,S
(01'\)‘!)-(3‘},"")2 3 > '«5 (aj"‘[), (0|2|3) - l < '15'
(01~111)'(|12|“‘):2 >1L.§ (0/',,1)‘ (1,3,2) = «| ¢ L&

We have Sv(cc/ss.ﬁl'ﬂ Sun @ plar\& Sc—pamg;’ﬂ, Spam L pen SPEM



b)  Fn (@), e o
<

noxX b $or  Sample spPom X
n - X <b  Fo Samplé  ren Spar X.

w/ A1) & blS

AN .
dote X We compvbe N X V%

To 6{055”3 f;@‘” ,

Compdrc with )

L) (0,"'1”’(71{/(): )

i) (0,‘),))'(0,0/3) =

/\/0[76—/ AhSwWGrs
& d?,“,ﬁjtac,né

< 1.5, Not Spar-

3 >LSs SpEri:
of mey nol i
mag i Fot bo €b 1F
hyperplané Es was Sound.



